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QUESTION 1

You are a Spark developer using Spark RDDs for data processing. You realize Resilient Distributed Data Sets (RDDs)
are evaluated lazily.

Which function do you need to execute to materialize RDDs?
A. Coalesce ()

B. ReduceByKey ()

C. Filter ()

D. CountByKey ()

E. Map ()

Correct Answer: D

QUESTION 2

Which component provides resources for dynamic high-performance processing in Big Data Cloud Service?
A. Edge Node

B. Permanent Node

C. Compute Cluster Node

D. Network Cluster Node

Correct Answer: A

QUESTION 3

Oracle Event Hub Cloud Service is supported by many of the Oracle Cloud platforms. Which two are options of where
you can deploy Event Hub Cloud Service (Apache Kafka)?

A. in Oracle Public Cloud Data centers

B. in Azure data centers

C. in Rackspace data centers

D. in AWS or Azure data centers

E. in the Customer\\'s on-premises data centers
Correct Answer: AE

Reference: https://cloud.oracle.com/en_US/event-hub/features
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QUESTION 4

Which methods of Kafka deployment on Oracle Cloud does NOT provide SSH access?
A. Oracle Event Hub Cloud Service Dedicated associated with Big Data Cloud

B. Oracle Event Hub Cloud Service (Multi Tenant Version)

C. Oracle Event Hub Cloud Service-Dedicated (Kafka as a service)

D. Customer installed Kafka on Oracle Cloud Infrastructure

Correct Answer: B

QUESTION 5

What is the role of Kerberos in the Big Data Cloud Service?

A. It allows for encryption of HDFS data at rest and Data in Motion.

B. It provides support for fine-grained, role-based authorization over Hive metadata.

C. It provides a secured Network Firewall to restrict Big Data Cloud Service access from external hosts.
D. It ensures the identity of users and services communicating over the network.

Correct Answer: D
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